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QUESTION 1

XX Global Health Plan has multiple options attached. Option i: XX Annual Health Insurance Option 2: Monthly Health
Insurance The plan cycle starts every year from April 1 to March 31. An employee opted for this plan on July 1, 2015
and his employment service was terminated on Oct 25, 2015- Business wants to trigger a Termination life event on the
12th of the termination month for the employee, irrespective of the actual termination date, for payroll reasons. Which is
the correct configuration for the Life event - Termination? 

A. Configure Termination as a Life event under the Enrollment tab of XX Global Health Plan with "Formula" as the
enrollment period start date, attaching a customized Enrollment period start date type formula. 

B. Configure Termination as a Life event under the Enrollment tab of XX Global Health Plan with "Mid of the month" as
the enrollment period start date. 

C. Configure Termination as a Life event under the Enrollment tab of XX Global Health Plan with "Number of Days from
the event" as the enrollment period start date and the number field as 15. 

D. Configure Termination as a Life event under the Enrollment tab of XX Global Health Plan with "Formula" as the
enrollment period start date, attaching a customized Enrollment Opportunity type formula. 

E. Configure Termination as a Life event under the Enrollment tab of XX Global Health Plan, with "As of event date" as
the enrollment period start date. 

Correct Answer: A 

 

 

QUESTION 2

Which statement is correct regarding Plan Grouping in the Self Service and Administrator page? 

A. All plans in a plan type are displayed on the same train stop as groupings are done at the plan type level. 

B. All plans in a plan type can be displayed on different train stops as groupings are done at the plan level. 

C. All plans can be configured at the plan level. 

D. All plans in 3 plan type can be displayed on different train stops as groupings are done at the program level. 

Correct Answer: B 

 

QUESTION 3

Your customer does NOT want the system to detect temporal events whenever a marriage life event is detected and
processed by the application. How do you accomplish this requirement? 

A. On the life event creation page, select "Do not detect past temporal events" as the Temporal Detection Rule. 

B. On the life event creation page, select "Never detect this temporal life event" as the Temporal Detection Rule. 

C. On the life event creation page, select "Do not detect future temporal events" as the Temporal Detection Rule. 

1Z0-973 PDF Dumps | 1Z0-973 VCE Dumps | 1Z0-973 Practice Test                                2 / 5

https://www.geekcert.com/1z0-973.html
https://www.geekcert.com/1z0-973.html
https://www.geekcert.com/1z0-973.html


https://www.geekcert.com/1z0-973.html
2021 Latest geekcert 1Z0-973 PDF and VCE dumps Download

D. On the life event creation page, select "Never detect Past or future temporal events" as the Temporal Detection
Rule. 

E. On the life event creation page, select "Do not detect past or future temporal events" as the Temporal Detection
Rule. 

Correct Answer: C 

 

QUESTION 4

A benefits consultant implemented a plan for life insurance with the following options: 

1.

 Option 1: Employee only 

2.

 Option 2: Employee plus spouse 

The company wants the plan to be rolled out to all the employees. Therefore, the benefits consultant enabled the Assign
on Default button for Option 1.They forgot that some employees may not want to enroll into the plan even though they 

are eligible. 

Where did the benefits consultant go wrong with the implementation? 

A. They should have created an Option 3: Coverage Declined. 

B. They should not have enabled the Assign on Default button for the options. 

C. They should have configured an eligibility fast formula 

D. They should have enabled a plan restriction fast formula. 

Correct Answer: D 

 

QUESTION 5

A company offers its employees a choice of four plans within a health insurance plan type. However, the company
wants to compulsorily enroll an employee into one plan. What must the minimum and maximum plan limit be set at Plan
Type level? 

A. Min = 1, Max - 1 

B. Min = 1, Max = 2 

C. Min = 0, Max = 1 

D. Min = 0, Max = 0 

Correct Answer: B 
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